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/S \,chertion (A) : Eskimos reside in igloos.
Reason (R) : No other material except snow is available.

A. Both Ac and R are true and R is the correct explanation
o] WAV

B. Both A and R are true and but R Is not the correct
explanation of A.

@,/Aw but R is.false.

D. Ais false but R is true.




1) FAssertion (A): We feel comfortable in hot and humid
- | Wt climate.

YReason (R): Sweat evaporates faster in humid climate.

A. Both A and R are true and R is the correct explanation
o] WAY

B. Both A and R are true and but R is not the correct
explanation of A.

C. Ais true but R is false.
. Both are false.




@ * ..
PN Msertion (A): The filament of the bulb is made up of
| ) (titanium) Longster)

Reason(RyThe filament should be so chosen that it will
have a lower)melting point. Wm
N—— . .
A. Both A and R are true and R is the correct explanation
of A.

B. Both A and R are true and but R is not the correct
explanation of A.

C. Aris true but R is false.
. Both are false.




besss
. 7 >§\ssertion (A): Uranium can undergo a nuclearﬁusiorﬂ
O NSEeMY)  reactjon. %‘ S o0
o (R): Uranium has a big unstable nucleus.
A. Both A and R are true and R is the correct explanation
o] WAY

B. Both A and R are true and but R is not the correct
explanation of A.

y IS true but R is false.
. Alis false but R is true.



- \»Aéertion (A): Plants have green leaves.
RO Reason (R): Plants contain phycoerythrin, the green

e’ “Pigment. norvo oy .
A. Both A and R are true and R is the correct explanation
o] WAY

B. Both A and R are true and but R is not the correct
planation of A.

. Alis true but R is false.
D. Ais false but R is true.



7N Mssertion: Grains should be consumed without
M) Sprouting.
W/ “Reason: Sprouting kills many vital nutrients

A. Both A and R are true and R is the correct explanation
o] WAY

B. Both A and R are true and but R is not the correct
explanation of A.

y true but R is false.
. Both are false.




g @sertion (A): Earthworms are not good for agriculture.

a0 & Bgdson (R): Earthworms break down the soll into fine
articles and make it soft.

A. Both A and R are true and R is the correct explanation
o] WAY

B. Both A and R are true and but R is not the correct
explanation of A.

Qy IS true but R is false.
. Alis false but R is true.
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HIH it
ertion (A): Mercury is the farthest planet from the sun.

_Bedson (R): Mercury is the smallest planet in the entire
solar-system. .

A. Both A and R are true and R is the correct explanation
o] WAY

B. Both A and R are true and but R is not the correct
explanation of A.

C. Ajs true but R is false.
594:’: false but R is true.
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F
..:: T A /‘ ertion (A): Water kept in earthen pots gets cooled in

summer.

W/ \Re€ason (R): Evaporation causes cooling.

\yéoth A and R are true and R is the correct explanation

of A.

B. Both A and R are true and but R is not the correct
explanation of A.

C. Ais true but R is false.
D. Ais false but R is true.



(A): We should avoid black clothes in summer.

Beason (R): Black is good absorber of heat.

o/ \%gbth A and R are true and R is the correct explanation

of A.

B. Both A and R are true and but R Is not the correct
explanation of A.

C. Ais true but R is false.
D. Ais false but R is true.



2y \éss/ertion (A): Appendix is a vestigial organ in ¥ human
- NSget™ ) body. -
4 %;on (R): It does not participate in digestion.
Moth A and R are true and R is the correct explanation
of A.

B. Both A and R are true and but R is not the correct
explanation of A.

C. Ais true but R is false.
D. Ais false but R is true.



Asseftion (A): Graphite is slippery and is used as a

~ &/« _Reason (R): Graphite hasl free electrons.)

VA./éoth A and R are true and R is the correct explanation
of A. ™

B. Both A and R are true and but R is not the correct
explanation of A.

C. Ais true but R is false.
D. Ais false but R is true.



> A Mon (A): Goitre is a common disease in
" NSge™t | “Mouniainous regions.

son (R): The diet of the pegple in mountains lacks
iodine content.

\\}/{oth A and R are true and R is the correct explanation
of A.

B. Both A and R are true and but R is not the correct
explanation of A.

C. Ais true but R is false.
D. Ais false but R is true.




N S , ‘ij% n (R) Tjj@/,arif\ed b@g > n@

Assertion (A) Most of the Himalayan rivers ar@

Both A and R are true and R Is the correct explanation
of A.

B. Both A and R are true and but R Is not the correct
explanation of A.

C. Ais true but R is false.
D. Ais false but R is true.



@ * ..
59 \Aon (A): Akbar found Din-e-lllahi.

Reason (R): He was motivated by self glorification.@

A. Both A and R are true and R is the correct explanation
o] WAV

B. Both A and R are true and but R Is not the correct
&/(planation of A.
. Alis true but R is false.

D. Ais false but R is true.
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